¢y Teacher Notes

Unlock the Problem: One Way

Using the Whiteboard

Teaching the Math

Answer Key

* Remind the students of the problem by pulling out the Problem tab, if necessary.
» Discuss the parts of Step 3

* Guide a volunteer to tap Answer to display the answer.

» Tap the Action Arrow. Discuss the parts of Step 4.

* Guide a volunteer tap Answer to display the answers.

Ask: How does the model represent the equation given in Step 3? Each addend is
represented by a box shown in the bar. There are two addends; therefore, there are
two boxes in the bar. The sum or total, A, is represented by the bracket.

Ask: Notice that the bar model in Step 4 represents subtraction. How could you
draw a model to represent 306 — 39 = x? | could replace 224 in the model with 306,
78 with 39, and y with x.

224 =A 146 =y

So, Crismari has 146 gigabytes of memory left on her computer.



